£

awsgns =20 | a 2u815 1= 220 5 H
24188815 |= 265 | = 20188815 |= 265 819 fs 820 201808/15 1= 220
sa09 o503 sa67 Ss6s . o1z F T | r |
]
L L] 20012 1= 350 875
s67 H
P805 PERDE DETAY! P808 PERDE DETAYI
P803 PERDE DETAYI P804 PERDE DETAYI P809 PERDE DETAYI J
L L L . | - L R J min 4
il i il 1] 1] . il i il
| L L | | | | L L IHE
. B - HH - 1 4] 1 . B S - Ellsnn
B i T s i sk 8 sosr - b 1 [ oot e b T [ stz = ] AR
.
w 2x1808/15 |= 470 21808/15 1= 470
P10 5%
[ i JE= ] [ i J= ]
] -+ Ey , P | , ™ ,
829 a2 1= 350 r 1 T 1 2
L P815 PERDE DETAY -
P811 PERDE DETAYI P812 PERDE DETAYI
L P810 PERDE DETAYI
=T kel LTI L bed TE—T L . [] TF—T T oo = ] Bliann

sa73 2050815 1= 520

Pi1s sii2

241808/15 1= 230 2x1888/15 |= 230 L
so41 A sei2 e o saas £ o
ser4 £ i
L g P115 PERDE DETAY!
5 si08 sz
= P816 PERDE DETAY! Jd
P817 PERDE DETAYI L P820 PERDE DETAYI

se sar ssa1 ss2 sa47 sess
NN T 1 = T 7 | T 11 T B il
L [ I | L] H |
LI L 1 | L1 4] 1
iy 4 TTHH ar 4 TTH NS 4 TIE N
I 2 iy e L 2| H= 4 o mEE
BEB T I 7 1 T I 5 ES [1T1]
T [ oo =k T sz = fsh] = T s - b A
L |- |- |- 2x25020 1=380 2111820 1=120| 219020 14380 T




